Date	Expense type	Details	Purpose	Amount
24.05.16	Rail Ticket	Brough to London	Meetings in London	40.00
24.05.16	Oyster card	Kings Cross to Zone 1	Meetings in London	6.50
24.05.16	Hotel	Millennium Gloucester Hotel	Meetings in London	164.17
25.05.16	Oyster card	Zone 1 to Kings Cross	Meetings in London	4.80
25.05.16	Rail Ticket	London to Brough	Meetings in London	40.00
15.06.16	Rail Ticket	Brough to London	Meetings in London	30.00
15.06.16	Oyster card	Kings Cross to Zone 1	Meetings in London	2.40
15.06.16	Hotel	Millennium Gloucester Hotel	Meetings in London	164.17
16.06.16	Oyster card	Zone 1 to Kings Cross	Meetings in London	4.80
16.06.16	Rail Ticket	London to Brough	Meetings in London	94.50
30.06.16	Rail Ticket	Brough to London	Meetings in London	20.00
30.06.16	Oyster card	Kings Cross to Zone 1	Meetings in London	2.40
30.06.16	Hotel	Millennium Gloucester Hotel	Meetings In London	114.17
01.07.16	Oyster card	Zone 1 to Kings Cross	Meetings in London	4.80
01.07.16	Rail Ticket	London to Brough	Meetings in London	51.00
20.07.16	Rail Ticket	Brough to London	Meetings in London	30.50
20.07.16	Oyster card	Kings Cross to Zone 1	Meetings in London	6.50
20.07.16	Hotel	Millennium Gloucester Hotel	Meetings in London	164.17
21.07.16	Oyster card	Zone 1 to Kings Cross	Meetings in London	4.80
21.07.16	Rail Ticket	London to Brough	Meetings In London	83.50
23.11.16	Rail Ticket	Brough to London	Meetings In London	32.00
23.11.16	Hotel	Millennium Gloucester Hotel	Meetings In London	197.00
24.11.16	Rail Ticket	London to Brough	Meetings In London	95.50
25.01.17	Rail Ticket Brough to London		Meetings In London	15.00
25.01.17	Hotel	Millennium Gloucester Hotel	Meetings In London 1	
26.01.17	Rail Ticket	London to Brough	Meetings In London	34.00

31.01.17	Rail Ticket	Brough to London	Meetings In London	24.00
31.01.17	Rail Ticket	London to Brough	Meetings In London	100.00
06.02.17	Rail Ticket	Brough to London	Meetings In London	41.00
06.02.17	Hotel	Millennium Gloucester Hotel	Meetings In London	162.00
07.02.17	Rail Ticket	London to Brough	Meetings In London	51.00
28.02.17	Rail Ticket	Brough to London	Meetings In London	34.00
28.02.17	Hotel	Millennium Gloucester Hotel	Meetings In London	234.60
01.03.17	Rail Ticket	London to Brough	Meetings In London	24.00
14.03.17	Rail Ticket	Brough to London	Meetings In London	41.00
14.03.17	Hotel	Millennium Gloucester Hotel	Meetings In London	197.00
15.03.17	Rail Ticket	London to Brough	Meetings In London	51.00

Date	Expense type	Details	Purpose	Amount
27.06.17	Rail Ticket Brough to London		Meetings In London	51.00
27.06.17	Hotel	Millennium Gloucester Hotel	Meetings In London	228.00
28.06.17	Rail Ticket	London to Brough	Meetings In London	24.00
12.07.17	Rail Ticket	Brough to London	Meetings In London	34.00
12.07.17 and	Hotel	Millennium Gloucester Hotel	Meetings In London	338.00
13.07.17				
14.07.17	Rail Ticket	London to Brough	Meetings In London	15.00
17.07.17	Rail Ticket	Brough to London	Meetings In London	24.00
17.07.17 and	Hotel	Millennium Gloucester Hotel	Meetings In London	452.40
18.07.17				
19.07.17	Rail Ticket	London to Brough	Meetings In London	34.00
30.08.17	Rail Ticket	Brough to London	Meetings In London	51.00
30.08.17	Rail Ticket	London to Brough	Meetings In London	51.00
31.10.17	Rail Ticket	Brough to London	Meetings In London	35.00

31.10.17 and	Hotel	The Grange, Tower Bridge	Meetings In London	398.00
01.11.17				
02.11.17	Rail Ticket	London to Brough	Meetings In London	42.50
18.10.17	Rail Ticket	Brough to London	Meetings In London	42.50
18.10.17	Hotel	Millennium Gloucester Hotel	Meetings In London	156.99
19.10.17	Rail Ticket	London to Brough	Meetings In London	74.50
05.12.17	Rail Ticket	Brough to London	Meetings In London	15.00
05.12.17	Hotel	Millennium Gloucester Hotel	Meetings In London	156.99
06.12.17	Rail Ticket	London to Brough	Meetings In London	15.00
24.01.18	Rail Ticket	Brough to London	Meetings In London	42.50
24.01.18	Hotel	Millennium Gloucester Hotel	Meetings In London	128.64
25.01.18	Rail Ticket	London to Brough	Meetings In London	42.50
30.01.18	Rail Ticket	Brough to London	Meetings In London	35.00
30.01.18	Hotel	Millennium Gloucester Hotel	Meetings In London	113.40
31.01.18	Rail Ticket	London to Brough	Meetings In London	27.00
05.03.18	Rail Ticket	Brough to London	Meetings In London	35.00
05.03.18	Hotel	Doubletree Hilton Hotel	Meetings In London	167.19
06.03.18	Rail Ticket	London to Brough	Meetings In London	22.00

15.05.18	Rail Ticket	Brough to London	Meetings In London	35.00
15.05.18	Hotel	Millennium Gloucester Hotel	Meetings In London	157.00
16.05.18	Rail Ticket	London to Brough	Meetings In London	27.00
24.05.18	Rail Ticket	Brough to London	Meetings In London	43.00
24.05.18	Rail Ticket	London to Brough	Meetings In London	53.00
13.06.18	Rail Ticket	Brough to London	Meetings In London	61.60
13.06.18	Hotel	Millennium Gloucester Hotel	Meetings In London	155.22
14.06.18	Rail Ticket	London to Brough	Meetings In London	28.00

04.07.18	Rail Ticket	Brough to Leeds	Meeting	10.00
04.07.18	Rail Ticket	Leeds to Brough	Meeting	8.40
17.07.18	Rail Ticket	Brough to London	Meetings In London	36.00
17.07.18	Hotel	Millennium Gloucester Hotel	Meetings In London	253.44
18.07.18	Rail Ticket	London to Brough	Meetings In London	36.00
12.09.18	Rail Ticket	Brough to London	Meetings In London	15.00
12.09.18	Hotel	Millennium Bailey's Hotel	Meetings In London	190.00
13.09.18	Rail Ticket	London to Brough	Meetings In London	28.00
08.10.18	Rail Ticket	Brough to London	Meetings In London	15.00
08.10.18	Hotel	Millennium Gloucester Hotel	Meetings In London	160.14
09.10.18	Rail Ticket	London to Brough	Meetings In London	44.50
30.10.18	Rail Ticket	Brough to London	Meetings In London	28.00
30.10.18	Hotel	Doubletree by Hilton	Meetings In London	209.00
31.10.18	Hotel	Doubletree by Hilton	Meetings In London	209.00
01.11.18	Rail Ticket	London to Brough	Meetings In London	107.50
20.11.18	Rail Ticket	Brough to London	Meetings In London	44.50
20.11.18	Hotel	Millennium Gloucester Hotel	Meetings In London	169.56
21.11.18	Rail Ticket	London to Brough	Meetings In London	22.00
04.12.18	Rail Ticket	Brough to London	Meetings In London	21.00
05.12.18	Hotel	Millennium Gloucester Hotel	Meetings In London	170.34
06.12.18	Rail Ticket	London to Brough	Meetings In London	36.00
28.01.19	Rail Ticket	Brough to London	Meetings In London	28.00
28.01.19	Hotel	Millennium Gloucester Hotel	Meetings In London	121.50
29.01.19	Hotel	Millennium Gloucester Hotel	Meetings In London	121.50
30.01.19	Rail Ticket	London to Brough	Meetings In London	36.00
19.03.19	Rail Ticket	Brough to London	Meetings In London	28.00
19.03.19	Hotel	Millennium Gloucester Hotel	Meetings In London	139.50
20.03.19	Rail Ticket	London to Brough	Meetings In London	36.00

22.04.19	Rail Ticket	Brough to London	Meetings In London	KH booked
22.04.19	Hotel	Strand Palace Hotel	Meetings In London	149.04
23.04.19	Rail Ticket	London to Brough	Meetings In London	21.50
20.05.19	Rail Ticket	Brough to London	Meetings In London	21.50
22.05.19	Rail Ticket	London to Brough	Meetings In London	43.50
05.06.19	Rail Ticket	Brough to London	Meetings In London	16.00
05.06.19	Hotel	Millennium Gloucester Hotel	Meetings In London	207.00
06.06.19	Rail Ticket	London to Brough	Meetings In London	36.50
26.06.19	Rail Ticket	Brough to London	Meetings In London	16.00
27.06.19	Rail Ticket	London to Brough	Meetings In London	46.50
23.07.19	Rail Ticket	Hull to London	Meetings In London	21.50
23.07.19	Hotel	Millennium Gloucester Hotel	Meetings In London	164.16
24.07.19	Rail Ticket	London to Hull	Meetings In London	29.00
03.12.19	Rail Ticket	Brough to London	Meetings In London	TBA
03.12.19	Hotel	Rochester Hotel	Meetings In London	179.00
04.12.19	Rail Ticket	London to Brough	Meetings In London	TBA
10.12.19	Rail Ticket	Brough to London	Meetings In London	TBA
10.12.19	Hotel	Millennium Gloucester	Meetings In London	165.00
11.12.19	Hotel	Millennium Gloucester	Meetings In London	165.00
12.12.19	Rail Ticket	London to Brough	Meetings In London	TBA
16.12.19	Rail Ticket	Brough to London	Meetings in London	37.50
16.12.19	Hotel	Doubletree	Meetings in London	135.00
17.12.19	Rail Ticket	London to Brough	Meetings in London	28.00
15.01.20	Rail Ticket	Brough to London	Meetings in London	28.00
15.01.20	Hotel	Citadines	Meetings in London	137.91
16.01.20	Rail Ticket	London to Brough	Meetings in London	21.50
22.01.20	Rail Ticket	Brough to London	Meetings in London	21.50

22.01.20	Hotel	Millenium Gloucester	Meetings in London	148.80
23.01.20	Rail Ticket	London to Brough	Meetings in London	16.00
27.01.20	Rail Ticket	Brough to London	Meetings in London	28.00
27.01.20	Rail Ticket	London to Brough	Meetings in London	28.00
18.02.20	Rail Ticket	Brough to London	Meetings in London	37.50
18.02.20	Hotel	Millennium Gloucester Hotel	Meetings in London	125.40
19.02.20	Rail Ticket	London to Brough	Meetings in London	28.00
25.02.20	Rail Ticket	Brough to London	Meetings in London	54.00
25/2602.20	Hotel	Millennium Hotel	Meetings in London	340.00 2 nights
27.02.20	Rail Ticket	London to Brough	Meetings in London	78.00
02.03.20	Rail Ticket	Brough to London	Meetings in London	83.00
02.03.20	Rail Ticket	London to Brough	Meetings in London	44.50
04.03.20	Rail Ticket	Brough to London	Meetings in London	16.00
04.03.20	Hotel	Marble Arch	Meetings in London	225.00
05.03.20	Rail Ticket	London to Brough	Meetings in London	16.00

Rail travel has been in standard class unless first class tickets were available at a cheaper price

Where a trip has been made to London then costs of a day travelcard (maximum of £12) will also have been incurred for travel on the London Underground.

June 2016

Date	Expense Type	Miles	Rate	Amount	Nature of claim
09/06/2016	Business Mileage	4	0.45	£1.58	Meeting
10/06/2016	Business Mileage	62	0.45	£27.90	Meeting
13/06/2016	Business Mileage	8	0.45	£3.69	Meeting
16/06/2016	Business Mileage	9	0.45	£4.05	Meeting
22/06/2016	Business Mileage	6	0.45	£2.70	Meeting
23/06/2016	Business Mileage	6	0.45	£2.70	Meeting
24/06/2016	Business Mileage	64	0.45	£28.80	Event
27/06/2016	Business Mileage	53	0.45	£23.85	Event
29/06/2016	Business Mileage	28	0.45	£12.60	Meeting
30/06/2016	Business Mileage	12	0.45	£5.40	Meeting

July 2016

Date	Expense Type	Miles	Rate	Amount	Nature of claim
01/07/2016	Business Mileage	9	0.45	£4.05	Meeting
02/07/2016	Business Mileage	28	0.45	£12.60	Event
03/07/2016	Business Mileage	28	0.45	£12.60	Event
04/07/2016	Business Mileage	10	0.45	£4.50	Meeting
08/07/2016	Business Mileage	120	0.45	£54.00	Meetings
10/07/2016	Business Mileage	289	0.45	£130.05	Meetings
13/07/2016	Business Mileage	68	0.45	£30.60	Meetings
14/07/2016	Business Mileage	10	0.45	£4.50	Meeting
15/07/2016	Business Mileage	61	0.45	£27.45	Meetings
16/07/2016	Business Mileage	10	0.45	£4.50	Meeting
20/07/2016	Business Mileage	144	0.45	£64.80	Meeting
22/07/2016	Business Mileage	59	0.45	£26.55	Meeting
			Total	£376.20	

Date Claimed	Details of Journey	Purpose of Journey	Miles	Rate	Amount
16/08/2016	Travel to London	Business Mileage	11	0.45	£4.95
16/08/2016	OPCC - Clough Rd PS	Meeting	8.2	0.45	£3.69
16/08/2016	OPCC - Hessle PS	Meeting	10.6	0.45	£4.77
16/08/2016	OPCC - Kirk Ella PS	Meeting	3.5	0.45	£1.58
16/08/2016	OPCC - Melton PS	Meeting	16.8	0.45	£7.56
16/08/2016	OPCC - Priory PS	Meeting	4.2	0.45	£1.89
16/08/2016	Travel to W Yorks OPCC	Meeting	120	0.45	£54.00
16/08/2016	N Lincs Council	Meeting	28	0.45	£12.60
16/08/2016	NE Lincs Council	Meeting	53	0.45	£23.85
16/08/2016	Business Mileage	Meeting	6	0.45	£2.70
16/08/2016	Business Mileage	Meeting	9	0.45	£4.05
16/08/2016	Business Mileage	Meeting	6	0.45	£2.70
16/08/2016	Business Mileage	Meeting	62	0.45	£27.90
16/08/2016	Business Mileage	Meeting	64	0.45	£28.80
		Totals	402.3		£181.04

August 2016

Notes:

Date Claimed	Detaile of lower or				
	Details of Journey	Purpose of Journey	Miles	Rate	Amount
02/11/2016	Business Mileage	Event	10	0.45	£4.50
02/11/2016	Business Mileage	Meeting	10	0.45	£4.50
02/11/2016	Business Mileage	Meeting	10	0.45	£4.50
02/11/2016	Business Mileage	Travel to London	12	0.45	£5.40
02/11/2016	Business Mileage	2x Meetings	120	0.45	£54.00
02/11/2016	Business Mileage	Mtg/Travel London	144	0.45	£64.80
02/11/2016	Business Mileage	Event	28	0.45	£12.60
02/11/2016	Business Mileage	Event	28	0.45	£12.60
02/11/2016	Business Mileage	Meetings	289	0.45	£130.05
02/11/2016	Business Mileage	Meetings	59	0.45	£26.55
02/11/2016	Business Mileage	Meetings	61	0.45	£27.45
02/11/2016	Business Mileage	Meetings	68	0.45	£30.60
02/11/2016	Business Mileage	Return from London	9	0.45	£4.05
07/11/2016	OPCC - Hessle PS	Meetings	10.6	0.45	£4.77
07/11/2016	Business Mileage	Meetings	10	0.45	£4.50
07/11/2016	Business Mileage	Meetings	106	0.45	£47.70
07/11/2016	Business Mileage	Meetings	11	0.45	£4.95
07/11/2016	Business Mileage	Meetings	111	0.45	£49.95
07/11/2016	Business Mileage	Meetings	112	0.45	£50.40
07/11/2016	Business Mileage	Meetings	12	0.45	£5.40
07/11/2016	Business Mileage	Meetings	12	0.45	£5.40
07/11/2016	Business Mileage	Meetings	12	0.45	£5.40
07/11/2016	Business Mileage	Meetings	12	0.45	£5.40
07/11/2016	Business Mileage	Meetings	122	0.45	£54.90
07/11/2016	Business Mileage	Meetings	13	0.45	£5.85
07/11/2016	Business Mileage	Meetings	13	0.45	£5.85

November 2016

		Totals	2271.8		£996.66
07/11/2016	Business Mileage	Meetings	4.2	0.45	£1.89
07/11/2016	Business Mileage	Meetings	85	0.45	£38.25
07/11/2016	Business Mileage	Meetings	8	0.45	£3.60
07/11/2016	Business Mileage	Meetings	72	0.45	£32.40
07/11/2016	Business Mileage	Meetings	70	0.45	£31.50
07/11/2016	Business Mileage	Meetings	61	0.45	£27.45
07/11/2016	Business Mileage	Meetings	61	0.45	£27.45
07/11/2016	Business Mileage	Meetings	60	0.45	£27.00
07/11/2016	Business Mileage	Meetings	6	0.45	£2.70
07/11/2016	Business Mileage	Meetings	58	0.45	£26.10
07/11/2016	Business Mileage	Meetings	57	0.45	£8.28
07/11/2016	Business Mileage	Meetings	57	0.45	£17.37
07/11/2016	Business Mileage	Open day	56	0.45	£25.20
07/11/2016	Business Mileage	Meetings	55	0.45	£24.75
07/11/2016	Business Mileage	Meetings	50	0.45	£22.50
07/11/2016	Business Mileage	Meetings	28	0.45	£12.60
07/11/2016	Business Mileage	Meetings	22	0.45	£9.90
07/11/2016	Business Mileage	Meetings	20	0.45	£9.00
07/11/2016	Business Mileage	Meetings	2	0.45	£0.90
07/11/2016	Business Mileage	Assmt panel	18	0.45	£8.10
07/11/2016	Business Mileage	Meetings	17	0.45	£7.65

Notes:

February 2017					
Date Claimed	Details of Journey	Purpose of Journey	Miles	Rate	Amount
17/02/2017	Business Mileage	Meetings	8.2	0.45	£3.69
17/02/2017	OPCC - Bridlington PS	Meeting	55.4	0.45	£24.93
17/02/2017	Business Mileage	Meeting	10	0.45	£4.50
17/02/2017	Business Mileage	Meetings	10	0.45	£4.50
17/02/2017	Business Mileage	Meetings	12	0.45	£5.40
17/02/2017	Business Mileage	Media Interview	12	0.45	£5.40
17/02/2017	Business Mileage	JCB Meeting	124	0.45	£55.80
17/02/2017	Business Mileage	Presentation	14	0.45	£6.30
17/02/2017	Business Mileage	Meetings	162	0.45	£72.90
17/02/2017	Business Mileage	Meetings	20	0.45	£9.00
17/02/2017	Business Mileage	Meetings	21	0.45	£9.45
17/02/2017	Business Mileage	Meetings	21	0.45	£9.45
17/02/2017	Business Mileage	Meetings	22	0.45	£9.90
17/02/2017	Business Mileage	Meetings	23	0.45	£10.35
17/02/2017	Business Mileage	Meetings	24	0.45	£10.80
17/02/2017	Business Mileage	Meetings	24	0.45	£10.80
17/02/2017	Business Mileage	CSP Meeting	53	0.45	£23.85
17/02/2017	Business Mileage	Meetings	57	0.45	£25.65
17/02/2017	Business Mileage	Meetings	6	0.45	£2.70
17/02/2017	Business Mileage	Meetings	60	0.45	£27.00
17/02/2017	Business Mileage	Meetings	68	0.45	£30.60
17/02/2017	Business Mileage	Meetings	7	0.45	£3.15
17/02/2017	Business Mileage	Meetings	9	0.45	£4.05
17/02/2017	Business Mileage	Meetings	9	0.45	£4.05
17/02/2017	Business Mileage	Meetings	9	0.45	£4.05
17/02/2017	Business Mileage	Meetings	92	0.45	£41.40
		Totals	932.6		£419.67

February 2017

Notes:

Keith Hunter

Police and Crime Commissioner for Humberside Expenses Claimed 2017/18

Date Claimed	Details of Journey	Purpose of Journey	Miles	Rate	Amount
21/08/17	Business Mileage	meeting	10.00	0.45	4.50
21/08/17	Business Mileage	London meeting	11.00	0.45	4.95
21/08/17	Business Mileage	London meetings	11.00	0.45	4.95
21/08/17	Business Mileage	return from London	11.00	0.45	4.95
21/08/17	Business Mileage	event attendance	13.00	0.45	5.85
21/08/17	Business Mileage	return from rail station and meeting	13.00	0.45	5.85
21/08/17	Business Mileage	Meetings	163.00	0.45	73.35
21/08/17	Business Mileage	event attendance	28.00	0.45	12.60
21/08/17	Business Mileage	meetings	39.00	0.45	17.55
21/08/17	Business Mileage	meeting	4.00	0.45	1.80
21/08/17	Business Mileage	meeting	43.00	0.45	19.35
21/08/17	Business Mileage	meeting	52.00	0.45	23.40
21/08/17	Business Mileage	event and meeting attendance	54.00	0.45	24.30
21/08/17	Business Mileage	meeting	64.00	0.45	28.80
21/08/17	Business Mileage	meeting	7.00	0.45	3.15
21/08/17	Business Mileage	event attendance	70.00	0.45	31.50
21/08/17	Business Mileage	for travel to London	9.00	0.45	4.05
21/08/17	Business Mileage	return from London	9.00	0.45	4.05
30/11/17	Business Mileage	meeting	8.20	0.45	3.69
30/11/17	Business Mileage	meeting	10.60	0.45	4.77
30/11/17	Business Mileage	meeting	16.80	0.45	7.56
30/11/17	Business Mileage	meeting	16.80	0.45	7.56
30/11/17	Business Mileage	meeting	8.00	0.45	0.00
30/11/17	Business Mileage	TV interview	10.00	0.45	4.50
30/11/17	Business Mileage	meeting	10.00	0.45	4.50
30/11/17	Business Mileage	meeting	110.00	0.45	49.50
30/11/17	Business Mileage	meeting	12.00	0.45	5.40
30/11/17	Business Mileage	meeting	12.00	0.45	5.40

30/11/17	Business Mileage	meetings	12.00	0.45	5.40	
30/11/17	Business Mileage	meeting	120.00	0.45	54.00	
30/11/17	Business Mileage	meeting	122.00	0.45	54.90	
30/11/17	Business Mileage	meeting	20.00	0.45	9.00	
30/11/17	Business Mileage	NE region meeting	212.00	0.45	95.40	
30/11/17	Business Mileage	meeting & lifestyle awards	22.00	0.45	9.90	
30/11/17	Business Mileage	meeting	37.00	0.45	16.65	
30/11/17	Business Mileage	meeting	45.00	0.45	20.25	
30/11/17	Business Mileage	meeting	50.00	0.45	22.50	
30/11/17	Business Mileage	awards ceremony	56.00	0.45	25.20	
30/11/17	Business Mileage	meeting	58.00	0.45	26.10	
30/11/17	Business Mileage	meetings	60.00	0.45	27.00	
30/11/17	Business Mileage	meetings	61.00	0.45	27.45	
30/11/17	Business Mileage	meeting	69.00	0.45	31.05	
30/11/17	Business Mileage	To rail station	9.00	0.45	4.05	
30/11/17	Business Mileage	meeting	9.00	0.45	4.05	
30/11/17	Business Mileage	return from rail station	9.00	0.45	4.05	
30/11/17	Business Mileage	return from rail station	9.00	0.45	4.05	
30/11/17	Business Mileage	return from rail station	9.00	0.45	4.05	
30/11/17	Business Mileage	to rail station	9.00	0.45	4.05	
30/11/17	Business Mileage	to rail station	9.00	0.45	4.05	
		Totals	1832.40		820.98	

			Keith Hu	nter		
			Police an	d Crime Co	ommissioner f	or Humberside
			Expenses	Claimed 2	2017/18	
Date Claimed	Details of Journey	Purpose of Journey	Miles	Rate	Amount	
04/05/2017	Business Mileage	03.03.2017 meeting	8.20	0.45	3.69	
04/05/2017	Business Mileage	Lifestyle launch	8.20	0.45	3.69	
04/05/2017	Business Mileage	meeting	10.60	0.45	4.77	
04/05/2017	Business Mileage	15.03.2017 return from rail station	9.00	0.45	4.05	
04/05/2017	Business Mileage	13.03.2017 meeting	8.00	0.45	3.60	
04/05/2017	Business Mileage	29.03.2017 project launch	8.00	0.45	3.60	
04/05/2017	Business Mileage	01.03.2017 return from london	9.00	0.45	4.05	
04/05/2017	Business Mileage	28.02.2017 travel for London trip	9.00	0.45	4.05	
04/05/2017	Business Mileage	meeting	9.00	0.45	4.05	
04/05/2017	Business Mileage	17.03.2017 meeting	10.00	0.45	4.50	
04/05/2017	Business Mileage	20.02.2017 Look North	10.00	0.45	4.50	
04/05/2017	Business Mileage	TV interview	10.00	0.45	4.50	
04/05/2017	Business Mileage	farm watch	10.00	0.45	4.50	
04/05/2017	Business Mileage	tenants Forum	10.00	0.45	4.50	
04/05/2017	Business Mileage	21.02.2017 Calendar interview	11.00	0.45	4.95	
04/05/2017	Business Mileage	Meeting	11.00	0.45	4.95	
04/05/2017	Business Mileage	22.03.2017 Radio show	12.00	0.45	5.40	
04/05/2017	Business Mileage	20.03.2017 meeting and TV news	14.00	0.45	6.30	
04/05/2017	Business Mileage	meeting	14.00	0.45	6.30	
04/05/2017	Business Mileage	07.03.2017 meetings x 2	19.00	0.45	8.55	
04/05/2017	Business Mileage	14.03.2017 meeting and travel to rail station	21.00	0.45	9.45	
04/05/2017	Business Mileage	23.03.2017 meetings x 2	28.00	0.45	12.60	
04/05/2017	Business Mileage	Meeting	36.00	0.45	16.20	
04/05/2017	Business Mileage	06.03.2017 Meeting	42.00	0.45	18.90	
04/05/2017	Business Mileage	09.03.2017	47.00	0.45	21.15	
04/05/2017	Business Mileage	26.02.2017 International language day celebration	55.00	0.45	24.75	
04/05/2017	Business Mileage	16.03.2017 public meeting	58.00	0.45	26.10	
04/05/2017	Business Mileage	10.03.2017 Meeting	59.00	0.45	26.55	
04/05/2017	Business Mileage	21.03.2017 meeting	59.00	0.45	26.55	
04/05/2017	Business Mileage	02.03.2017 meeting	60.00	0.45	27.00	
04/05/2017	Business Mileage	24.02.2017 public meeting	60.00	0.45	27.00	
04/05/2017	Business Mileage	meeting	68.00	0.45	30.60	
04/05/2017	Business Mileage	Service launch	93.00	0.45	41.85	
04/05/2017	Business Mileage	30.03.2017 meeting	115.00	0.45	51.75	
		Totals	1011.00		454.95	

Keith Hunter

Police and Crime Commissioner for Humberside Expenses Claimed 2017/18

Date Claimed Details of Journey 05/12/2017 Business Mileage n 06/12/2017 Business Mileage 07/12/2017 Business Mileage 08/12/2017 Business Mileage 09/12/2017 Business Mileage 12/12/2017 Business Mileage 14/12/2017 Business Mileage n 08/01/2018 Business Mileage 09/01/2018 Business Mileage 11/01/2018 Business Mileage 12/01/2018 Business Mileage 15/01/2018 Business Mileage ra 16/01/2018 Business Mileage n 19/01/2018 Business Mileage n 23/01/2018 Business Mileage n 24/01/2018 Business Mileage 25/01/2018 Business Mileage r 29/01/2018 Business Mileage 30/01/2018 Business Mileage 31/01/2018 Business Mileage r 05/02/2018 Business Mileage 07/02/2018 Business Mileage 09/02/2018 Business Mileage n 12/02/2018 Business Mileage 16/02/2018 Business Mileage 20/02/2018 Business Mileage 22/02/2018 Business Mileage 25/02/2018 Business Mileage r

y	Purpose of Journey	Miles	Rate	Amount
	meeting	11.00	0.45	4.95
	return from meeting	9.00	0.45	4.05
	meeting	14.00	0.45	6.30
	meeting	8.00	0.45	3.60
	award ceremony	8.00	0.45	3.60
	meeting	10.00	0.45	4.50
	meeting	212.00	0.45	95.40
	meeting	16.80	0.45	7.56
	police team visit and Public meeting	58.00	0.45	26.10
	prison event	31.00	0.45	13.95
	return from event	31.00	0.45	13.95
	radio show and tv show appearances	22.00	0.45	9.90
	meeting	50.00	0.45	22.50
	meeting	10.00	0.45	4.50
	meeting	8.20	0.45	3.69
	travel to London	9.00	0.45	4.05
	return from london	9.00	0.45	4.05
	meeting	18.00	0.45	8.10
	travel to London	9.00	0.45	4.05
	return from london	9.00	0.45	4.05
	meeting	11.00	0.45	4.95
	meetings	38.00	0.45	17.10
	media interview	55.00	0.45	24.75
	meetings	71.00	0.45	31.95
	meetings	56.00	0.45	25.20
	course input, meetings	66.00	0.45	29.70
	meetings	10.00	0.45	4.50
	return trip to Manchester airport for Kosovo p	208.00	0.45	93.60

05/03/2018 Business Mileage
07/03/2018 Business Mileage
08/03/2018 Business Mileage
12/03/2018 Business Mileage
15/03/2018 Business Mileage
16/03/2018 Business Mileage
22/03/2018 Business Mileage
27/03/2018 Business Mileage
01/04/2018 Business Mileage
05/04/2018 Business Mileage
06/04/2018 Business Mileage
09/04/2018 Business Mileage
11/04/2018 Business Mileage
12/04/2018 Business Mileage
13/04/2018 Business Mileage
17/04/2018 Business Mileage
20/04/2018 Business Mileage

Return trip to station for trip to London	22.00	0.45	9.90
conference	11.00	0.45	4.95
meeting	6.00	0.45	2.70
meeting	7.00	0.45	3.15
meeting	110.00	0.45	49.50
press launch	8.00	0.45	3.60
rock challenge	9.00	0.45	4.05
meeting	12.00	0.45	5.40
public visit	6.00	0.45	2.70
meeting	16.80	0.45	7.56
visit police treatment Centre	138.00	0.45	62.10
meeting	16.80	0.45	7.56
public visit	11.00	0.45	4.95
public meeting	7.00	0.45	3.15
public engagement	12.00	0.45	5.40
Rock Challenge Grimsby	61.00	0.45	27.45
public engagement	57.00	0.45	25.65
Totals			710.37

28/07/2018	Business Mileage	open day	59.00	0.45	26.55
30/07/2018	Business Mileage	meeting	12.00	0.45	5.40
31/07/2018	Business Mileage	public meeting	78.00	0.45	35.10
11/08/2018	Business Mileage	public event	60.00	0.45	27.00
25/08/2018	Business Mileage	public event	8.00	0.45	3.60
29/08/2018	Business Mileage	meeting	10.00	0.45	4.50
30/08/2018	Business Mileage	public meeting	59.00	0.45	26.55
12/09/2018	Business Mileage	travel to london	11.00	0.45	4.95
13/09/2018	Business Mileage	return from london	9.00	0.45	4.05
21/09/2018	Business Mileage	scrutiny meeting	10.00	0.45	4.50
24/09/2018	Business Mileage	conference	276.00	0.50	138.00
27/09/2018	Business Mileage	meetings and public meeting	71.00	0.45	31.95
01/10/2018	Business Mileage	meeting	11.00	0.45	4.95
02/10/2018	Business Mileage	public meeting	66.00	0.45	29.70
03/10/2018	Business Mileage	public meeting	36.00	0.45	16.20
08/10/2018	Business Mileage	travel to london	11.00	0.45	4.95
09/10/2018	Business Mileage	return from london	9.00	0.45	4.05
10/10/2018	Business Mileage	meeting	16.80	0.45	7.56
11/10/2018	Business Mileage	public meeting	48.00	0.45	21.60
15/10/2018	Business Mileage	public meeting	28.00	0.45	12.60
17/10/2018	Business Mileage	conference	272.00	0.45	122.40
19/10/2018	Business Mileage	meeting	4.00	0.45	1.80
19/10/2018	Business Mileage	meeting	94.00	0.45	42.30
22/10/2018	Business Mileage	meetings	118.00	0.45	53.10
25/10/2018	Business Mileage	meeting	18.00	0.45	8.10
27/10/2018	Business Mileage	Visit to public club	79.00	0.45	35.55
29/10/2018	Business Mileage	public meeting	38.00	0.45	17.10
30/10/2018	Business Mileage	to Doncastrer train station	43.00	0.45	19.35
01/11/2018	Business Mileage	return from Doncaster train station	43.00	0.45	19.35
03/11/2018	Business Mileage	Lifestyle judging	10.00	0.45	4.50
05/11/2018	Business Mileage	numerous meetings	75.00	0.45	33.75
07/11/2018	Business Mileage	conference and meeting	34.00	0.45	15.30
09/11/2018	Business Mileage	conference	62.00	0.45	27.90

19/11/2018	Business Mileage	meeting	12.00	0.45	5.40
20/11/2018	Business Mileage	to train stataion	9.00	0.45	4.05
21/11/2018	Business Mileage	return from rail station	9.00	0.45	4.05
23/11/2018	Business Mileage	conference	12.00	0.45	5.40
25/11/2018	Business Mileage	public event	52.00	0.45	23.40
26/11/2018	Business Mileage	public meeting	35.00	0.45	15.75
04/12/2018	Business Mileage	to train stataion	9.00	0.45	4.05
06/12/2018	Business Mileage	return from train station	9.00	0.45	4.05
10/12/2018	Business Mileage	conference and public meeting	288.00	0.45	129.60
12/12/2018	Business Mileage	meetings	12.00	0.45	5.40
13/12/2018	Business Mileage	meeting	73.00	0.45	32.85
17/12/2018	Business Mileage	meeting and public meeting	62.00	0.45	27.90
19/12/2018	Business Mileage	public meeting	55.00	0.45	24.75
20/12/2018	Business Mileage	meeting	93.00	0.45	41.85
08/01/2019	Business Mileage	public meeting	72.00	0.45	32.40
09/01/2019	Business Mileage	meeting	16.80	0.45	7.56
11/01/2019	Business Mileage	HMPS event	47.00	0.45	21.15
15/01/2019	Business Mileage	meeting	63.00	0.45	28.35
17/01/2019	Business Mileage	meeting	12.00	0.45	5.40
28/01/2019	Business Mileage	Partner event and travel to London	19.00	0.45	8.55
30/01/2019	Business Mileage	return from London	9.00	0.45	4.05
31/01/2019	Business Mileage	police event	8.00	0.45	3.60
04/02/2019	Business Mileage	event attendance	5.00	0.45	2.25
05/02/2019	Business Mileage	meetings	70.00	0.45	31.50
11/02/2019	Business Mileage	meetings	21.00	0.45	9.45
12/02/2019	Business Mileage	meeting and public event	16.00	0.45	7.20
13/02/2019	Business Mileage	meetings	84.00	0.45	37.80
18/02/2019	Business Mileage	meetings	62.00	0.45	27.90
25/02/2019	Business Mileage	public meeting	45.00	0.45	20.25
27/02/2019	Business Mileage	public meeting	29.00	0.45	13.05
01/03/2019	Business Mileage	public event	11.00	0.45	4.95
				c	1 802 37

Start Expense Date	Item Description	Justification	Miles Claimed	Avg Mileage Rate	Amount
05/03/2019	Business Mileage	opening building Grimsby	58.00	0.45	26.10
12/03/2019	Business Mileage	public meeting	58.00	0.45	26.10
14/03/2019	Business Mileage	meeting	16.80	0.45	7.56
18/03/2019	Business Mileage	meeting	120.00	0.45	54.00
19/03/2019	Business Mileage	travel to London	11.00	0.45	4.95
20/03/2019	Business Mileage	return from London	11.00	0.45	4.95
04/04/2019	Business Mileage	conference	45.00	0.45	20.25
08/04/2019	Business Mileage	meetings	78.00	0.45	35.10
10/04/2019	Business Mileage	meeting	9.00	0.45	4.05
22/04/2019	Business Mileage	travel to London and return to	18.00	0.45	8.10
20/05/2019	Business Mileage	to rail station and return	18.00	0.45	8.10
24/05/2019	Business Mileage	meeting	92.00	0.50	46.00
01/06/2019	Business Mileage	public event	9.00	0.45	4.05
05/06/2019	Business Mileage	to rail station and return	20.00	0.45	9.00
18/06/2019	Business Mileage	meeting	8.20	0.45	3.69
20/06/2019	Business Mileage	meetings	18.00	0.45	8.10
21/06/2019	Business Mileage	civic event	10.00	0.45	4.50
24/06/2019	Business Mileage	meeting	118.00	0.50	59.00
26/06/2019	Business Mileage	to rail station and return	20.00	0.45	9.00
28/06/2019	Business Mileage	meeting	5.00	0.45	2.25
02/07/2019	Business Mileage	meeting	20.00	0.45	9.00
04/07/2019	Business Mileage	meeting and public event	20.00	0.45	9.00
16/07/2019	Business Mileage	meetings	8.20	0.45	3.69
17/07/2019	Business Mileage	meeting	13.00	0.45	5.85
18/07/2019	Business Mileage	public event	58.00	0.45	26.10
23/07/2019	Business Mileage	to rail station and return	18.00	0.45	8.10
26/07/2019	Business Mileage	meeting	60.00	0.45	27.00
29/07/2019	Business Mileage	media interview	11.00	0.45	4.95
01/08/2019	Business Mileage	meeting	60.00	0.45	27.00
05/08/2019	Business Mileage	public event	40.00	0.45	18.00
06/08/2019	Business Mileage	public meeting	14.00	0.45	6.30
07/08/2019	Business Mileage	meeting	120.00	0.45	54.00

Start Expense Date	Item Description	Justification	Miles Claimed	Avg Mileage Rate	Amount
05/08/2019	Business Mileage	public event	38.00	0.45	17.10
07/08/2019	Business Mileage	meeting	120.00	0.45	54.00
13/08/2019	Business Mileage	Public event	4.00	0.45	1.80
22/08/2019	Business Mileage	meeting	58.00	0.45	26.10
31/08/2019	Business Mileage	public event	6.00	0.45	2.70
02/09/2019	Business Mileage	event and public meeting	70.00	0.45	31.50
05/09/2019	Business Mileage	meeting	10.00	0.45	4.50
06/09/2019	Business Mileage	conference	16.80	0.45	7.56
09/09/2019	Business Mileage	meeting	120.00	0.45	54.00
13/09/2019	Business Mileage	conference	58.00	0.50	29.00
15/09/2019	Business Mileage	conference	272.00	0.55	149.60
18/09/2019	Business Mileage	radio appearance	10.00	0.45	4.50
19/09/2019	Business Mileage	meeting and public meeting	71.00	0.45	31.95
23/09/2019	Business Mileage	meeting	11.00	0.45	4.95
24/09/2019	Business Mileage	public event	11.00	0.45	4.95
28/09/2019	Business Mileage	public event	9.00	0.45	4.05
02/10/2019	Business Mileage	public meeting	5.00	0.45	2.25
03/10/2019	Business Mileage	public meeting	46.00	0.45	20.70
07/10/2019	Business Mileage	meeting	13.00	0.45	5.85
08/10/2019	Business Mileage	meeting	16.80	0.45	7.56
09/10/2019	Business Mileage	public meeting	10.00	0.45	4.50
10/10/2019	Business Mileage	public meeting	9.00	0.45	4.05
14/10/2019	Business Mileage	meeting	118.00	0.45	53.10
15/10/2019	Business Mileage	meeting	188.00	0.50	94.00
16/10/2019	Business Mileage	conference	272.00	0.45	122.40
18/10/2019	Business Mileage	conference and event	19.00	0.45	8.55
02/11/2019	Business Mileage	meeting	10.00	0.45	4.50
06/11/2019	Business Mileage	public meeting	64.00	0.45	28.80
18/11/2019	Business Mileage	meeting	10.60	0.45	4.77
19/11/2019	Business Mileage	meeting	11.00	0.45	4.95

21/11/2019	Business Mileage	attend Council	11.00	0.45	4.95
22/11/2019	Business Mileage	conference	21.00	0.45	9.45
25/11/2019	Business Mileage	to rail station and return	20.00	0.45	9.00
28/11/2019	Business Mileage	meeting	21.00	0.45	9.45
29/11/2019	Business Mileage	meeting	57.00	0.45	25.65
02/12/2019	Business Mileage	meeting	60.00	0.45	27.00
03/12/2019	Business Mileage	to rail station and return	22.00	0.45	9.90
09/12/2019	Business Mileage	mjeeting	120.00	0.45	54.00
16/12/2019	Business Mileage	travel and return from rail station	20.00	0.45	9.00
23/12/2019	Business Mileage	Meeting	102.00	0.45	45.90
					C000 F 4

£998.54

Expense Date	Item Description	Justification	Miles Claimed	Avg Mileage Rate	Amount
07/01/2020	Business Mileage	Official funeral	252.00	0.50	126.00
09/01/2020	Business Mileage	public meeting	16.00	0.45	7.20
14/01/2020	Business Mileage	meeting	48.00	0.45	21.60
15/01/2020	Business Mileage	travel to London	18.00	0.45	8.10
20/01/2020	Business Mileage	meeting	118.00	0.45	53.10
22/01/2020	Business Mileage	travel to London and meeting in Hull	30.00	0.45	13.50
27/01/2020	Business Mileage	travel to london	18.00	0.45	8.10
28/01/2020	Business Mileage	public event	5.00	0.45	2.25
29/01/2020	Business Mileage	meetings	72.00	0.45	32.40
30/01/2020	Business Mileage	meeting	93.00	0.45	41.85
03/02/2020	Business Mileage	meeting	11.00	0.45	4.95
06/02/2020	Business Mileage	meeting	14.00	0.45	6.30
07/02/2020	Business Mileage	meeting and event	57.00	0.45	25.65
12/02/2020	Business Mileage	public meeting	48.00	0.45	21.60
18/02/2020	Business Mileage	travel to London	20.00	0.45	9.00
20/02/2020	Business Mileage	meetings	31.00	0.45	13.95
24/02/2020	Business Mileage	meeting	58.00	0.45	26.10
25/02/2020	Business Mileage	travel to london	20.00	0.45	9.00
02/03/2020	Business Mileage	travel to london	18.00	0.45	8.10
					C420 7F

£438.75